Challenge 1 Challenge 2 Challenge 3 Challenge 4
» N
17 - 3 = 20 -10 = 30 -20 = 29 - 13 =
26 - 4 = 50 - 10 = 60 - 30 = 38 - 14 =
36-2-= 80 - 10 = 80 - 40 = 47 - 12 =
26 - 8 = 63 - 10 = 48 - 20 = 85 - 11 =
32-7 = 76 - 10 = 59 - 30 = 55 - 24 =
46 - 9 = 91 - 10 = 77 - 50 = 66 - 23 =
55 - 6 = 100 - 10 = 81 - 30 = 79 - 34 =
67 -9 = 40 - 20 = 66 - 50 = 83 - 41 =
78 -9 = 50 - 20 = 85 - 25 = 94 - 42 -
If yolt.‘l are r;o;sure drawanumber 70 _ 20 - 73 _ 31 -
ine and draw your jumps
39 -6 =33
PR Use a 100 square to Use a 100 square to
/N NN NNV jump up

33 34 35 36 37 38 39

Jump up




